TEXHUYECKHUE AAHHDIE
TECHNICAL INFORMATION

HomMWHaAbHble TOKM, yKa3aHHble B TabAULAX, paccunTaHbl Ha TeMnepaTypy NpoBoaHMKa oT 65°C po 105°C u
Temnepatypy okpyxatolern cpeabl 35°C. OHM UMEOT NPUOANBUTEAbHBIE AENCTBUTEABHbIE 3HAUEHWS AAA
COeAMHEHMI 6e3 n3oAaLUMK. B cayduae CNoAb30BaHUA M30AUPYIOLLEN 0B60A0UKKN NpeaycMaTprBaeTca kKo3dOULIEHT
CHWXEHWUSI HOMWHaAbHOTO Toka Ha 20%. MNoxaAyicTta, yunTbiBanTe, YTO TEMNEpPaTypa NPOBOAHWKA 3aBUCUT OT
YCAOBUWIN MOHTa)xa U aKcnayataumu, 1 , npyu HeobXoAMMOCTU, AOAKEH ObITb NPEAYCMOTPEH KOIPPULEHT CHUXEHUS
HOMMWHAAbHOIo Toka. CeueHne NPOBOAHUKOB MOXET ObiTb MakCUMaAbHO COKpalleHo Ha 80% NAOCKUX LUUH B
cooTtBeTcTBME ¢ Hopmol DIN 46276.

Current loads on our data sheets are related to the temperatures of the conductor of 65°C and 105°C and to
the ambient temperature of 35°C. These are approximated values for non insulated connections.

For insulated applications please consider a reducing current load factor about 15%.

Please notice that the temperature of a conductor depends on the installation and the working conditions and a
reducing current load factor has to be considered if necessary.

The cross-section of a flexible conductor cannot be reduced by over 80% of the same section of a solid bar
according to DIN 46276 norm.

KoadpdUueHT usmeHeHUA HOMUHaNbHOIo Toka H
Adjustment current load factor H

3HauYyeHUsA HOMUHAABHOTO TOKa, YKa3aHHble B TabAuLax, MOryT ObiTb UBMEHEHbI B 3aBUCUMOCTU OT KOAeDBaHUM
Temnepatypbl. KoaddULEHT U3MEHEHUSA HOMUHAABHOIO Toka H paBeH 1 npu TemnepaTtype OKpyXatoLLEen CpeAbl
35°C n Temnepatype npoBoAHUKa 65 ° C. Ecan, Hanpumep B TOM Xe TeMnepaType okpyxatrulen cpeabl 35°C
6bina paspelleHa Temnepatypa nposoaHUKa 70°C, TO TOKOHeCYLLAA CNoCOBHOCTb AOAKHA ObITb YMHOXEHA Ha
nonpaBoYHbIN KO3PPULeHT H=1,1.

Current loads on our data sheets can be adjusted with reference to variations of temperature.

Adjustment Current load factor H=1 at ambient temperature of 35 °C and copper temperature of 65 °C.

For example, if you allow at the same ambient temperature of 35 °C a copper temperature of 70 °C, the current
load has to be moltiplied for a factor H=1,1.
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